
3

1 mark

9 – 5.14 =

1

1 mark

6 – 3.45 =  

2

1 mark

7 – 1.6 =  



5

1 mark

32.9 – 13.614  =

4

1 mark

12 – 4.8 =  

6

1 mark

75.26 + 24.9 =  



9

1 mark

8 – 5.639 =  

8

1 mark

5.62 + 2.358 =  

7

1 mark

2.4 + 5.093 =



10 Write these numbers in order of size, starting with the smallest. 

1 mark

1.5       0.65       0.219       1.47

smallest

11 Write these lengths in order, starting with the shortest. 

1 mark

m

1.03m       0.764m       0.98m       1.2m

m m m

shortest

12 Write these masses in order, starting with the lightest. 

1 mark

kg

0.931kg       1.09kg       1.1kg       0.98kg

kg kg kg

lightest
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